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The answer to each question is in parentheses at the beginning of each solution.

i} 3 The perimeter of the rectangle is 2 x 10" + 2 x 12" = 44", If the area of one of
the squares is 36 sq.in., then a side of the square is 6" and its perimeter is 24".
44" - 24" =20" is the perimeter of the other square. Its side is 5" and its area is 25 sq.in.

2) (3) 25-2J9+%=34. 25-6+15=34. Thus z=3.
3) (aor 3) 52a)* (£ ) 30)=5(4a%) (£*) 3H)= L a’b’tor times the original number.
4) 2 Largest: 12, 12, 12, 12, 10, 10, 10, 10, 6. Mean= 3.

Smallest: 12, 10, 10, 10, 10, 6,6,6,6. Mean=F. $-2=23=2

3) (:5) Let x = number of males. Let y =number females. 3x = % y; y = ¢ x. Total number

of people at the party were x + y = % x. Total single people were3x + 5y = ¢ x.

e 19 T
9 X+ 9 X = 79

6) (I: 8, III: 64) I

2

b+ 242+3=8 T4+2+2+3+3+344+4+4F+4 555 F3L6 0+ 708



